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Section A: (30 x 2 marks = 60 marks)

For each question from 1 fo 30, four options are given. One of them is the
correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3
or 4) on the Opftical Answer Sheet.

1. The classification table below shows the groupings of plant and animal eaters.

Organisms

i ’ ]
L Plant eatess ] [ Animal eaters ]
LY ’ ]

i 1 i
(Give birth to their young [ Lay eggs J ( Give birth to their young J [ Lay eggs '
I
o) P

S | T I

£
Lizard
Dragonfly

w

DEar
Rabbit ]

Y
Ghark

Cheetah

_C_N_E_lien
Crocodile )

Which groups of animals are wrongly classified?

(1) XandZonly
{(2) Xand Y oniyv
(3) Y and Z only
{4) W and Y only



The diagrarr; below shows the cross-section of a flower. Paris of the flower
are labelled A, B, C, D and E.

A

¥ Part D is removed, seeds can still be produced by the flower but not if Part
B is removed. This is because

(1} Part D has no function at all

(2) Part B Is connected to Part C
(3) Fertilisation depends on Part B
(4) Pollination takes place at Part B

For'Questions 3 and 4 use the information below.

Sue set up an investigation fo show that fish exhaled carbon dioxide. She
knows that a biue liquid can be used to test for the presence of carbon dioxide
in water. The biue liquid will change colour in the presence of carbon dioxide.
She set up test tubes X and Y as shown.

Text tubo X Ta=tlube Y axtialed w0

pond water pond water

+ +

blue fiquid blue liquid
A-2
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3.

Sue blew air into tesf lube Y. What was her assumption and what was her
purpose?

Sue's Assumption

Sue’s Purpose — to show that

(1)

Exhaled air contains carbon
dioxide

Exhaled air contains carbon dioxide

(2) | Exhaled air contains carbon Lime water changes colour in the
| dioxide _ presence of carbon dioxide _
(3) | Lime water has effect on fish Exhaled air contains carbon dioxide
{4) | Lime water has effect on fish Lime water changes colour in the

presence of carbon dioxide

Which other test tube did Sue need for her investigation to be a fair test?

M) (2) @) @)
pond water pond water pond w?te_r pond water
+ btue fiquid + plant + blue liquid only
+ plant + fish

A-3



The table below provides some information on three types of cells, W, X and
Y. Atick (V) indicates the presence of the part of the cell.

&Parts of cell CellW Cell X Cell Y
Celt wall v <
Nucleus N V v

Chloroplast ~

Which of the following statements matches the description of ceils, W, X or Y
in the tabie below?

A
B:
C:

(1)
(2)
(3)
4)

Cell W can be found in the root of a plant.
Cell X is most likely to be able to produce oxygen.
Cell Y is most likely to belong to that of an animal.

A only

B only

B and C only
A, BandC

Herbivores and carnivores have different sets of teeth in their adaptation 1o
the environment. Incisors are for picking up and cutting food; canines

are for gripping and tearing food; premolars are for coarsely grinding food and
motars are for finely grinding food. In order to prepare food for swaliowing, the

herbivore’s teeth must

(1
(2)
(3)
(4)

pick up and cut food only

pick up, cut and finely grind food only

pick up, cut, grip, tear and coarsely grind food only

pick up, cut, grip, tear, coarsely grind and finely grind food

g7




For Questions 7 and 8 use the information below.

The chart below shows how living things obtain their energy.

Living things
¥ No — Water weed
Yes ‘I .
Does it use the Sun's -
energy to make food? ——"I Plant * s it very
small? Yes Algae
(e ]
- No j—* Mould
Yes -
Does it get its energy -
from breaking down ™ Fungus —> Isita . i
dead plant material? mushroom? Yes Enoki
]
No
3 No Fro
. Yes ¥ 9
Does it get its energy . -
from eating plants and ;l Animal ‘ * Isitan .
animals? insect? Yes —¥ Housefly
7. What does the chart tell about the mould and the enoki?
Both organisms ~
(1) get their energy by eating fungus.
(2) get their energy by eating living things
(3) do not use the Sun’s energy to make food -
(4) do not get their energy from breaking down dead plant material x
8. How does the frog get its energy?

it gets its energy by

(1) eating piants and animals

(2} breaking down dead plant material

3) eating Enoki and mould

(4) eating food it makes using the Sun’s energy

o



Temperatuce (*C)

For Questions 9 and 10 use the information below.

Ann predicted that the temperature in her fish bowl varied less than the
temperature of the air nearby. She set up her experiment as shown to test her
idea.

She measured the temperature in each location for the next two days. The two
graphs below show her resuits. :

Walerlemporature Air temperatprg

Temparature *C)

8 12 4 8 1 12 4 a 8 12 4 8 8 12
[3M pm gm gmy, am pm pmpm | |sm pm pm pm|jam_pm_pm _pm |
Day 1 Day 2 Day 1 Tay 2
Tiroe Time

What is a correct statement that Ann could make about her results?

(N Each day the air temperature was highest at 4 pm.

(2) Sunlight heated the water more quickly than the air.

(3 The air temperature at 8 am on the second day was 15 °C.

4 The air and water temperatures were the same at 8 pm on the first day.

Was Ann's prediction correct? What is the difference between the
temperature ranges in the water and in the air over the two days?

(1) Na. 5°C
(2) Yes. 5°C
(3) No. 10°C
(4) Yes. 10 °C

A-6 159




11. The circulatory system carries blood containing the gases, oxygen and
carbon dioxide, through blood vessels to all parts of the body. In the heart,
blood is pumped to all parts of the body. In the body, oxygen from the blood is
used up and carbon dioxide from the body is taken up by the blood. In the
lungs, blood gives out carbon dioxide and takes up oxygen. The diagram
below shows the parts of the circulatory system.

W=
" ———— hlood vvith oxygen
= = = hicod with carbon dioxide

L —lungx
H -~ hicart,
B body

LE

Yo omoamakowomh o W

Which diagram correctly shows the direction in which blood flows?

(1) (2)

(3) ' (4)

W



2.

A small increase in water temperature will kill trouts. Guppies thrive when
water temperature increases. Hot water discharged from factories into a river
raises the water temperature of the river nearby. The map shows factories
located along a river system and the type of fish found in particular areas.
The arrows show the direction the river flow.

key

% troud

L ouppy

¥y S, T,Vonly

&) ? U, Wonly
® s.T.0 wonly
e T, U, V, W only
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13.

14.

The table below shows the eye colours that children inherited from parents
with various eye colours within a community.

[T(EY: bi—blue g-—green br - brown l
Mothies - hrown hMoliei - hrown Mother - yreen RMother - Dlue
Eye colour Fathes - brows: | Father - bl Fati Fathes - bi
of parents - hrowi ather - blue ather - grech ather - biue
Eye colour
of children {%}

Which statement is correct about the inheritance of eye colour by these

children?

(1) if both parents have green eyes, they will have no green-eyed children.

(2) if the mother has brown eyes, then all her children will have brown eyes. -

(3) If the father has blue eyes, then at least 25% of his children will have blue
eyes.

{4) iIf both parents have eyes of different colours, then all of their children will

have either of the eye colour.

These two animals belong to the same group and have many similarities.

anienna

joined head and thorax joined head and thorax

segmeﬁzed abdomen 5
segmented abdomen

What is most similar about these animals?

(L
(2)
€)
(4)

a segmented abdomen

a separate head and thorax’

antennas longer than the body length
large pincer claws attached to the thorax



15. The diagram shows how oxygen and carbon dioxide are cycled through

living things.
I,
> Glucose
» Oxygen
v
Plant ) Animal )
Photosynthesis | Respiration |~

-9

i

SUN Water

{ Carbon Dioxide‘F—.

Which statement correctly interpreis this diagram?

(1) Plant photosynthesis does not require water.

(2) Plant photosynthesis produces carbon dioxide..

(3) Oxygen is a by-praduct of piant photosynthesis.’

(4) The products of animal respiration are giucose and water.
A—-10
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16.

The foliowing diagram shows a flowchart. Analyse the flowchart to answer the

guestion.

Begin

No visible
change’

*1 electrical conductor?

is the object an

Yes

_What happened?

Only attraction
between M- and
the object

took place

\\

; Face the poles of a bar
magnet M near the

object

Repulsion and attraction
between M and the
object took place

N

Yes

Is the object a good
heat conduct=i?

Is the objec{ able to
bend easily without
breaking?

r/ Yes

Y

Which of the following is E?

(1) {ron bar

(2)  Rubber hose

(3) Steel paper clip
(4} Carbon pencil lead

A-11
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17.

18.

Look at the diagram below. |

retort stand

Which of the following actions would make the wheel spin faster?

A
B:
C:
D

(1)
(2)
(3)
(4)

Adjust the wheel upwards
Adjust the wheel downwards
Reduce water flow from the tap
increase water fiow from the tap

A and C only
A and D only
B and C only
B and D only

Which of the following are reasons for recycling steel in Singapore”?

Energy is conserved through recycling of steel.

Ease of coliection but not separation of steel.

Producing more steel does not contribute to global warming.v
Steetl is mainly made of non-renewable resources.

A and B only
B and C only
C and D oniy
A and D only

iq4b



19.

o

The diagram beiow shows four different locations A, B, C and D in a certain town.

Rainwater ts collected from each of the locations and tested for its contents.

T
T =
iﬂiﬂ]%!ﬂ&%ﬁﬁﬁ&
I TR

A -
Towed {1
o
Park e

E— p—
IFEC LT T

Which location will have rainwater which is least polluted?

(13 A
2) B
3 C
4y D

A-13
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20.

9

The graph shows the average global temperature in degree Celsius.

Temperature (°C)

15.6
153
15.0
14.7

14.4-

MIt— 717 7T T 7T T i
1880 1900 1920 1940 1960 1980 Year

Which of the following are reasons for the above graphical representation?

Al Burning of forest for plantation

B: Photosynthesis by green plants

C: Removal of trees for materials

0 Exhaust fumes from factories and vehicles.

(1) A and C only
(2) B and D only
(3) A, C and D only
(4) B, C and D only

A- 14
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21.

22.

A glass bowl contained 300 g of water. 23 g of sugar was dissolved in the
bowl of water.

=2

@(25 g of sugar

~ 300 g of water

After 5 days, it was found that only 2259 of solution was left in the bowl.
The remaining solution would contain about

(M 25 q of sugar

(2) 225 g of water

(3) 200g of water and 25 g of sugar
(4} 225 g of water and 25 g of sugar

Direction of motion Direction of motion
ia] N (5]
Start _ End Start End

The diagram above shows two similar blocks of the same mass. They are
also made from the same material. Jason pushed them with an equal force.
He found that Block A travelied a shorter distance than Block B.

Which of the following is / are correct explanation (s) for ihis?

A Jason used a greater force to push Block B.

B: Block A moved a shorter distance as there is greater friction
between A and the surface than in the case of B.

C: Block B moved a longer distance as there is no friction between
Block B and the surface.

D Alubricant could have been spread on the surface on which

Block B was travelling.

(1) A oniy

(2} D oniy

(3) B and D only
(4) A, Cand D only

199




23. Three rockets, A, B and C, of the same mass are shown below.

The diagram below shows the paths of fiight taken by rockets A, B and C after
they were launched. They landed on a slope at points P, Q and R.

Match the rockets to their correct flight path if the only variabie that is changed
is their nozzle shape.

Rocket A Rocket B Rocket C
(1) P ) Q. R
(2) P = Q
{3) R P Q.
(4) Q- R P-
A—16

L



24.

Q

A marble is released from the side of a bowl as shown in the diagram below.
Point P is the lowest point of the bowl.

maorble

Which of the following statemerit (s} is / are true about the marble when it first
reaches Point P after it is released?

A
B:
C:

(H
(2)
(3
(4)

The marble has no kinetic energy.
The marble has less gravitational potential energy than before.
All the gravitational potentiat energy has been converted into sound

and heat.

B only

B and C only
A and C only
A, Band C

A-17
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25.  Study the diagram below.

Setup P ) Setup Q

) 4

120 kg 120 kg

Sefup R Setup S

L.

(S~
—

120 kg

Which of the above set-up/s possess/es both the following characteristics?

A The effort used is less than half of the load

B: The effort and toad moved in the opposite direction.
(1) R only

(2) S only

(3) P and S only
(4) P, Qand S only



26.  Alexandra set up the experiment as shown below.

—

open

switch > _
L~ wron rod

coiled wire

She closed the switch and observed what happened.
Which one of the following diagrams correctly snows what Alexandra would
observe when the suspended steel rod was brought near the iron rod?

suspended steel rod

@ } il | s

(2)

3)

suspended steel rod

i- suspended steel rod
t ]

4

A—-19
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27.

Patsy read an article which claimed that a magnet made of material X is stronger
than that made of material Y. !t also stated that the amount of magnetic force is
affected by the distance of the magnet from the object it is to attract. Peter set
up a few experiments using magnets made of materials X and Y to verify this.
Which of the following observations support (s) both claims?

A

g

C

D
(1) B only
(2) C only
(3) D only

(4)  All of the above

A-20



28.

Berry set up the experiment below to investigate the properties of light.

torch

[

ohjects

U929 528

Berry cut the objects from hard cardboard into different shapes as shown below.

O

Cbject 1

7

N

Object 2

|

Object 3

What will Berry see on the screen?

1)

(3)

(2}

(4)

208




29.  The diagram below shows a clown throwing a ball into the air.

Which of the following correctly identifies the energy changes that took place in
the bail? :

Ball is thrown

Ball at its highest

Ball is faliing back

upwards point down
Kinetic energy = Potential energy is Potential energy 2
Potential energy maximum Kinetic energy

Potential energy >
Kinetic energy

Kinetic energy =
Potential energy

Potential energy >
Kinetic energy

Potential energy 2>
Kinetic energy

No kinetic energy

No potential energy

No kinetic energy

Potential energy is
maximum

No kinetic energy

A-22




30.

Yoghurt is a product of fermented milk. Fermentation results from activities of a
group of bacteria called lactic acid bacteria (e.g. lactobacillus) which can survive
well in acidic conditions. The flowchart below shows the steps in yoghurt
production.

(A)
Milk is heated C
Xagurt is refrigerated. (B)
~jognurt -
it is then cooled to 40°C
(D)
¥ogurtis cooled. (€)
Joanrt Bacteria is added to convert lactose in milk
TE {o lactic acid

Fermentation of milk takes place at stage

() A
2 B
3 C
4) D

£nd of Booklet A. Please proceed to Booklet B

A-23
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Section B: 40 marks
Read the questions carefully and write your answers in the space provided.

31.  The organisms shown below can be found in water or near water. The
pictures are not drawn {o scale.

frog kingfisher

waler mite

mosquito

(2) Fill the above organisms correctly into the Boxes (i) to (tv) according

to the classification chart as shown below. (2 m)
Animals
I
! 1
Fins No fins
' 1
(i) ! 1
- More than 4 legs 4 legs
]
r (i)
3 parts to
its body Fewer than 3 parts to

l its body
: !
(iii) J : (v)

(b)  What is another way of classifying the above six organisms? (1 m)

20?




32. When food is eaten, it passes into the stomach. C;rcle the letter X, Y or Zthat
shows the position of the stomach in the diagram below. {1m)

The bar graphs below show the digestion of three types of food, M, N and O,
in the different parts of the digestive system.

At the start:

Amount of

food
A
Digested food
5
ity
Eyr M
e Food
T Sttt
AR
Fooosaoa
A
AR T

v

¢
X,

SE5Ehueed Food N

Jitge
(0

4t
i

WA ATATVER VALY

WALy

Ay

SEEEHoIEY T T T TSR
e ey Food©
Ssuaes _ Types of AR

food




In the mouth:

Amount of
food

"«

DEMEM AP

» Types of food

In the stomach:

Amount of
food

+

» LYpes of food




in the small intestine:

Amount of
food

%
» 1Ypes of food
M N O
(a) Based on the graphs above, in which organ/s was/were digestion of

Food N mostly carried out? {2 m)

The table below shows 3 types of food.

Soup - Biscuit Hamburger

(b) Identify the best possible match of the food given in the table to Food

M, N and O. (1¥2m)
0] Food M:
(i) Food N:
() Food O:




a

33.  The pictures below show some of the stages of the life cycle of a flower which
are not arranged in the correct sequence.

(a) Rearrange the pictures in the correct sequence according to the sfages
in its fife cycle by fiffing in missing letters in the boxes below. (1 m)

(b) It the flower is not brightly coloured, how can the piant attract
pollinators to itself? (1 m)

273




34. ° Susan was inveshigating the conditions needed for seeds to germinate. She
set up the seed trays with holes at their bases by putting 20 seeds inm each
tray and giving them the same amount of water.

damp graved damp sand damp soil damp blotting paper

The results are shown in the table below.

Seed Tray Number of seeds which grew into healthy seedlings
Grave! 3
Sand 8 o
Soil 15
Blotting paper 10 3

(@) What is a possible reason for the poor germination with gravel? (1 m)

(b) MName two variables not mentioned in the question above that she must
keep the same in order to ensure a fair test. (1 m)

pAL




35.

The school wildlife club wanled to attract birds. A half coconut was filled with
a mixture of nuts, coconut and bird seed as shown in the diagram. Two such
half coconuts were each hung from two different trees.

mixture of nuts, -
coconut, bird seed

{a) Name one life process the half coconuts could enable the birds to carry
out. {(1Tm)

us




(b} XandY are the two half coconuts that had been hung from trees with

positions stated in the table below. Three club members, A, B and C,
made the following observations:

Coconut Position of No. of Visits to the Coconut by Birds in a Morning
Tree Day 1 Day 2 Day 3
A B C A B C A B C
X Among a
clusteroftrees | 53 | 25 | 24 [ 20 | 22 | 21 | 22 | 24 | 25
Y in the open 10 7 91! 6 5 7 9 8 10
()  What is a likely conclusion that can be obtained from the data in the
table? (1 m)

(i)  Suggest a possible reason for the data coilected by A, B and C. (1 m)

21t



36.

Betty wanted to test the hypothesis that the presence of waler plants
increases the survival rate of water snails. She had the following itemns:

Kod S K& B
& &4 ¥E B

4 fish

4 snails

# 4

2 strends of hydrila

|

:'%’l‘?é il L

I

L

1000 mi of
water

2 gasijars

2 table lamps

(@)

Betty needed to prepare 2 set-ups to conduct a fair lest. Draw in pencil
in the space provided below to show the set-ups she should prepare.

{(You need not use all the items provided) (2 m)
Set-up A Set-up B i
(b) What observation would prove that Betty’s hypothesis is true? (1 m)

L:}7




37.

A certain spectes of moth is very common in Canada. The diagram below

shows the major stages in the life cycle of this moth.

Moths migrate to the
wearmer western plains.

Moths are dormant o sumener. Moths lay eggs.

Eoggs hatch. Lervae Ive in

] soill burroves and emerge
spring | winter to feed af night.
£ lorvae
Haths migrate: easlweards pU;;;\

£t pigtt o controck caves Pupae form h soll burrows.

(@) There are four seasons in a year. Based on the diagram above, what
is the approximate number of months in the larval stage of this moth?

(®)  In what season/s would the moth migrate?

(c)  Suggest a likely reason as to why this type of moth is inactive in the

summer.

1&3



The diagram below shows the organisms fiving in a community. They are

related to one another in the food web as shown by the linking arrows.

KEY

[ X ~———2 Y means "X is ealen by Y"

N

/ foxe% sheep

A

TN

NN t

plant matenal,
[ kangaroos grasses, seads,
flowers

AT

g insiits )
~/

X el
echidnas | | (allee fpwis |
ey

> ( e&qtes) <&

Match the descriptions given in the box below to the organisms above by
writing the names of the organisms in the blanks.

(2 m)

Descriptions

Organisim/s

(a) | The organism/s is/are ‘both a prey
and a predator’.

(b) | The organism/s competes/compete
for food with the mallee fowls.

(c) | The organism/s is/are ‘both a plant
and animal eater’.

(d) | The organism/s isfare ‘an animal

ecater’.

121G
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39.

Susan used the set-up below to find out how fast a heating element F with 10
coils could heat up a beaker of water. Before taking the temperature of the water,
she stirred the beaker of water with a glass stirrer. She closed the circuit and
then took the temperature of the water at 2-minute intervals. '

thermometer

to power
suply -

glass stirer

Healing element F with 10 coits

(a) Why did Susan stir the water before taking the temperature of the water?
(1m)

B-12

223




Temperature (° C)

After several readings were taken, the graph beiow was plotted. °

T = - 8 S R O S 7
; T E
I
64 =
1
4
o =1L Heabtin ]
50 4+ - SEzaIEN g element I
[ 7] - g
E ] =1 .
40 B =
’ e HNEE R F f
307 Bos u H
f"" = o
20 145 -
+ s HAE
10 ¢ - -1t 3
T ]
] Javrh
1 i |
0 1 2 3 4 5 3 7 8 3 10

Time { minutes )

The experiment was repeated using the same set-up. The amount of water and

its starting temperature were kept the same. A heating element, X, made of the

same matertal as F was used. X had 20 coils. The last reading was taken when

the water was at 60°C. '

D)
(2} On the same axes of the graph above, plot another fine to show the
change in temperature of the water with time for the heating element X.

(Z2m)

B-13

PR L



40.

B8
Height X{ — o %“'x

C% = R

(a)

(b)

How could acrobat B help acrobat A to perform a somersault to a greater
height from Height X? {1m)

When Acrobat C replaced acrobat B, and jumped from the same point X, it

was noticed that acrobat A jumped to a greater height before coming down,

Explain this observation. {(2m)

B -14
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41. Sam set up an expernment as shown below.

magnet

L magnet

e

All the apparatus ang materials used in Set-up A and Set-up B are kept constant
except for the materiaj that made the table. He used a very strong magnet and
shid it across the underside of each tabie in the direction as indicated by the

arrows.  She observed that only the box in Set-up A moved while the box in Set-
up B remained in its position,

(a) Explain why the box in Set-up A move and the box in Set-up B did not?
(Z2rm)

e

(b) Give an example of a maleral that could be used to miake the box in both
the set-ups. . im)

—

—————

B-15
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42.

From then on, the cars go up and down without the help of a motor.

)

Roller coasters are pulled up a steep slope by a chain at the beginning of the ride.

I
78N
2\
Dz
==

direction of ride

N ["’
N mﬂhﬂf

L !

(b)

{©)

Between which points would the roller coaster need a chain to pull the

cars up?

()

At which point would the roller coaster cars have the least gravitational

potential energy?

{(Yam)

if all the above roller coaster cars are moving equally fast, which one of

the cars has the most kinetic energy and why?

(1m)

217




43.  Study the circuit shown below closely.

e — —_— : ——
— Gong
O
P - Eiecfro—mognef
S }
- - Pivot
'—— Sofi—iron
= Bell bulton
(@ Pressing the bell button closes the electrical circuit, and as a result, energy
conversion takes place. Complete the diagram below to show the energy
conversion that has taken place. ‘ {(1m)
Chemical ” . 1
Potential
Energy
(b) Zam set up an experiment as shown below.

As he hit the drum with a stick, he noticed that the styrofoam baii moved.
State the energy conversion by filling the blanks below with suitable words.
{2m) i

lerergy in the ‘hand is converted to

energy of the drum. This is converted to _ energy of the

air which is finally converied to energy of the

styrofoam bali.
B-17
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44.

Alison wanted to find out which one of the three rods, A, B or Cds the strongest.

The rods were of the same thickness and length but were made of different

materials. She was also given some ceramic tiles, a pait and two desks of the
same height. She set up the expernment as shown below.

Centre of rod

-

F

|
L _
desk pait —

—+-desk

ceramic

tiles as

weightls

Describe systematically the steps she should take to find the result. Use oniy the

materials provided.

(2m)
Steps Description
Step 1 Set up the experiment as shown above.
Step 2

B-—18
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45. Study the chart below.

(a) Why is the filter Needed?

(b)

Smoke discharged
through chimney

Rubbish collected
from homes and
industrial areas

Generator
Steam turns turbine o
produce eiectricity

T ——
—

Refuse Bunker
Trucks emply refuse
inta bunker

Boiler
Heat from the
buming of refuse
changes water inta

- steam

Incinerator
Refuse js
burnt in the
incinerator

—
Mixed with

concrete to rnake

slabs

Magnet is used to
remove iron from
rubbish

Mixed with ash
——— R

fron Bunker
Trucks take scrap
iron to iron mil

——

Landfilis

, (1m)

—_—

What can be done to reduce the refuse collected? (1m)

2%0



46.  Sheena wanted to find out if the mas2 of the
would affect the distance that it would travel.
according to the design below, using different types of paper.

paper used for a paper aeroplane
She folded 6 paper aeroplanes

She then tabulated her results in the foliowing table.

Plane | Mass of paper Wingspan Length (cm) Distance
(g) (cm) travelled (m)
A 9 i2 20 10.2
B 7 15 15 6.7
C 8 12 20 8.5
D 6 12 20 5.0 }
E 7 12 15 7.4 L
F 7 17 15 56
(a) In order to carry out a fair test--which plane (s) should she use? (1m)

(b) In another experiment, Sheena used planes B, £ and F. What is the aim of

her second experirment?

(1m)

.....

B-20
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s MGS Primary Schoeol
Primary 6 Science SA2 Exams (2008)

Qo. Ans Qn no. Ans Qn no Ans
1 2 i1 i 21 3
2 4 12 2 22 3
3 2 13 3 23 4
4 3 14 1 24 i
5 2 15 3 25 3
6 2 16 3 26 4
7 3 17 4 27 2
8 i 18 4 28 4
9 1 19 1 29 1
10 2 20 3 30 3
31a. (i) Trout (i) Freg (iii) Mosquito (iv) Water mite
31b. Vertebrates or invertebrates/warm-blooded or cold-blooded/wings or no wings/legs or
no legs/can fly or eannot fly. Have skeleton or have exoskeleton.
32a. In the stomach.
32h. (i) Biscuit (i) soup (i) hamburger
33a. B—» A—3p D-—3C
33b. Gives off a scent/emit fragrance/emit smeli/has a Jarge store of nectar.
34a. Gravel cannot hoid and retain water fong enongh for it to be taken in by most of the
germinating seeds.
34b. Seed trays of the same size/amount of content in tray/seed trays pt in ike same
place/duration of experiment same type of sceds/amount of surface area/distance
betwcen each seed in the tray.
35a. Digestion
35b(i). More birds were attracted to the coconut which was among a cluster of tree coconut

X, while less birds were attracted to the coconut in the open, coconut Y.
(ii)  The birds prefer to have the protection of trees to hide from predators.

- PageiolZ MGS ~ (P5) SAZ Science 2008




36a. g et
g
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' oy
- Ha0 onk; WAL Efgwq
2 pydrtia g
}_,1 sha;{y ?‘2'_ Sr‘v\lri Is %
: ) Satain A . Set-up B %
36b. In set-up A, the snails will live for a longer time than the snails in sef-up B.
37a. About 3 months
37h. Spring and autumn
37e. The summer temperature may be too for this fype of moth.
 38a. Mallec fowls, cats
38b. Enchidnas, irsects kangaroos, sbecp, rabbits
38c. Mallee fowls '
38a. Foxes, eagies, cats, echidnas
39a Ta speed up and quicken_the transfer of heat to all parts of the water.
39b. iterjj jEEEEE
:
40a, Acrobat B can jump down with a greater force.
40h. Acrobat C was probably heavier than acrobat B, Thus, Acrobat C would have much

more graviiational potential energy and exert and greater force and cause Acrobat A
to junp higher.

4la. Table in set-up A is likely to bc a ron-magnetic material while the table in set-up B is
likely to be a magnetic material.
41b. stecl




42a

42b.
42c.

43a.
43b.

44,

45a.
45h.

46a.
46b.

AwB
D
Car Y. Because car Y has the greatest mass so the kinetic energy level B higher.

Electric energy — kinetic energy — sound energy
Chemical potential, sound energy, kinetic energy, kinetic

Step 2 : Place as many ceramic tiles as possible into the pail, until the rod breaks
Step 3 : When the rod breaks, record the numbes of tiles in it.

Step 4 : Repeat step 2 aod 3 with a different rod.

Step5 : When you are done, compare the results. The rod that could hold up the
most number of tiles is the strongest.

To remove harmful particles from smoke before it is released in the air.
We can reduce, reuse and cycle

A, C andD
She was finding out if the length wingspan of the paper plane will affect the distance
traveled.




